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ENGLISH VERSION

1 Give any four answer out of six questions : 14
(1) State limitation of a linear programming.
(2) Explain Dual in linear programming.
(3) Give definition of a partial differentiation and

explain homogenous function.

(4) State limitation of a xz distribution.

. 3% 3%z
(B) If 7 _3x+4yobtain Fwl and pw g

(6) Explain test of goodness in 42.
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Explain simplex method. 6
Give mathematical form of alinear 4
programming.

State merit of dual in linear programming. 4
Explain : 6

(1) Constrains

(2) Solution

(3) Feasible solution

(4) Optimum solution

(5) Objective function

(6) Unbound solution

Minimize Z=30x+20y for following constrains 8

6x+y 210, x+y26, x+4y 212

x,y=z20

OR
State importance of a linear programmes. 4
A company during the festival season 10

combines two iteams A and B to form of a gift
packed which must weight at least 5 kg. At least
2 kg of A and not more than 4 kg of B should
be used. The cost per unit of A and B respectively
10 Rs and 6 Rs. Find the optimal item mix for
minimum cost.
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For usual notation prove that 10

o (ad-bc)PN
x ~(a+b){c+d)(a+c)(b+d) -

Give definition of X.z statistics and state its 4

mmportance.
OR
Explain : 6
(1) Degree of freedom .
(2) Test of indendence of atributes.

State properties and limitation of 2. 4

A sample of 200 families each having 3 4

children gave the following distribution of boys.
Test the hypothesis that boys and girls are
equally probable.

Boys o 1 2 3
No. of families 40 60 62 38

(1) State Euler's theorem. 6
(2) Utility and Marginal utility Explain

(3) Explain method of maximization of a
utility function.
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If f(x y)=log(2x+3y) obtain value of fx and 4
/v when x=1 and y=3,.
If f(x,y)=¢’*7¥ then obtain for and fy 4
OR

_3x-2y
Ix+2y

z

R

h h: x§£+ E—0
then prove that O y 3y

y2
then prove that

[+ -]

103 f(x,y)=log[x2 u

Sy = fx.
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